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ZxzA v
YA A A 90 19,800 20,350
TrARILTAT VR 60 17,600 18,150
TILT T T4 R 90 23,100 24,200
ARy Y VYA T4HY = 90 23,100 24,200
ISRTA YV 90 24,200 25,300
AL LY B 90 26,400 27,500
FTTFARAY— 90 24,200 26,400
F—ZIL FTT 4~ AH— 100 30,800 31,900
IJ€7 R a—F 90 30,800 31,900
VAV <=V % 60 14,300 15,400
T4 T 60 13,200 14,300
Tytey v AT b 90 20,900 22,000
VAV NN 30 8,800 9,350
7% 508 30 8,800 9,350
T35 as—v 90 24,200 25,300
JLY—)L&0oL 60 15,400 16,500
TUTILXY 15 5,500 6,050
IRANLAR—TF 30 8,800 9,350
TARKY Yy TR N=T7 273> 45 11,000 12,100
TARXRN=T 73> 30 8,800 9,350
AV AT T 60 20,900 22,000
T A
Sv—3a Reox—L/owy /w5y 30 9,900 11,000
TAR Y2 R/IZAANTZ/) Ty IR/ TFHP— 30 9,900 11,000
TAR V2l R/ ZAANT RV Ty IR/ TSP — 60 17,600 18,700
TAR Y2 R/ ZRANTEZV/V Ty IR/ THT— 90 19,800 20,900
VIR R TR A S 90 25,300 26,400
ARFZLyy>y2a-="7 60 17,600 18,700
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TJA4hThyoR 90 22,000 23,100
T4 bYA= 60 16,500 17,600
T4k TIILLT 60 24,200 25,300
TLoIVFA Y ToILLT 50 15,400 16,500
7AY FLF—=—>a/nLTy N7 oIVAT 30 9,900 11,000
74 b LT 40 11,000 12,100
NV R 10 2,750 3,300
ok 10 2,750 3,300
Ly s 10 3,300 3,850
~y R 15 3,300 3,850
Z Dty

BEv Y= 20 3,520 3,850
309> 30 5,500 6,050
Y7 RTy T 745w 90 25,300 26,400
RIA b=y 742 v 90 24,200 25,300
ZY IS AT 90 20,900 22,000
Fry IR AT« 90 24,200 25,300
EBW 90 13,200 15,400
2 5 60 6,600 8,250
2L Ky HA—F 150 39,600 41,800
FaF 7oL LT 120 35,200 37,400
FOTRAk—> b5 — 90 24,200 25,300
IT77YFY TARTA—7 120 29,150 30,800
EYrvyx2—hILF~vZXFa7v 90 26,400 27,500
N FANZ 20 2,200 2,750
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